Tableaux des Puissances de Dix (])

Divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (J) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 1000 10 100 10 000
3,75 0,00375 0,375 0,0375 0,000375
5,86 0,00586 0,586 0,0586 0,000586
9,52 0,00952 0,952 0,0952 0,000952
6,02 0,00602 0,602 0,0602 0,000602
4,06 0,00406 0,406 0,0406 0,000406

+ 0,001 10 100 10 000
6,24 6 240 0,624 0,0624 0,000624
8,79 8790 0,879 0,0879 0,000879
4,48 4 480 0,448 0,0448 0,000448
2,18 2180 0,218 0,0218 0,000218
1,71 1710 0,171 0,0171 0,000171

+ 0,0001 100 0,001 10
7,76 77 600 0,0776 7760 0,776
6,27 62 700 0,0627 6270 0,627
3,35 33500 0,0335 3 350 0,335
9,1 91 000 0,091 9100 0,91
4,13 41 300 0,0413 4130 0,413

+ 1000 10 0,0001 0,01
7,14 0,00714 0,714 71400 714
6,89 0,00689 0,689 68 900 639
4,87 0,00487 0,487 48 700 487
5,89 0,00589 0,589 58900 589
2,27 0,00227 0,227 22700 227

MathsLibres.com




